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Show that the line joining the origin to the point (2, 1, 1) the _>~
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2. If/.m.n and/, m,, n,are the direction cosines of twq mu fally perpendiculyr
lines, show that the direction cosines of the line perpendi€ e
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4. Find the equation of a line parallel to x-axis and passing through the origin.
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6. Ifthelines == = @ ~—_— and @ @ éarepelpendiculan
find the vatue of £. @
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7. Find the vector equation of the line passing through (1, 2, 3) and perpendicular to
the plane 7 .(f+2}—51<:)+9=0.
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8. Find the equation of the plane passing through (a, b, ¢) and parallel to the plane

FG+jR)=2.

concurrent forces in a plane, theory of couples, system of parallel forces.



